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I. Expand the following numbers: 
1)   72 -  Seven Tens + Two Ones or 70 + 2 
2) 669 - Six Hundreds + Six Tens + Nine Ones or 600 + 60 +9 
3) 246 - Two Hundreds + Four Tens + Six Ones or 200 + 40 + 6  
4) 813 - Eight Hundreds + One Tens + Three Ones or 800 + 10 + 3   
5) 951 - Nine Hundreds + Five Tens + One Ones or 900 + 50 + 1 

 
 

II. Circle the even number: 
1) 743,  734,  331,  659  
2) 222,  407,  811,  555   
3) 56,  65,  109,  13 

 
 
III. Underline the odd number: 

1) 76, 67, 32, 18 
2) 999,  122,  540,  366 
3) 802,  835,  898,  814 

 
 

IV. Write in column and find the sum: 
 

 
 
 

V. Write in column and find the product: 
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VI. Problem sum: 
a)  

                                                                                       T   O 
No. of plants eaten on the first day                 12   7 
No. of plants eaten on the next day           +    3   5 

 
Total no. of plants eaten                                    6   2 

           
Ans: Dino the dinosaur ate 62 plants altogether. 

 
 

b)  
                                                                                       T   O 

No. of tins of cheese bought                               7   9 
No. of tins of cheese sold                               -    4   9 

 
Total no. of tins of cheese left                             3  0 

                     
Ans: The shopkeeper had 30 tins of cheese left. 
 

VII. Match the following: 
 
a) 1st  
b) 10th  
c) 12th  
d) 3rd  
e) 8th  
f) 9th  
g) 5th  
h) 2nd  

g)  Fifth 
c)  Twelfth 
a)  First 
e)  Eighth 
d)  Third 
f)   Ninth 
h)  Second 
b)  Tenth

  


